lysis H — Deggeller / Gleason/ Tantod Polar Bear A\ aw Le R
lar and 3D Quiz 1 [30 pts]

1. Consider the point.(—4. = g)

a) Plot the point. b) Find 3 different polar coordinates for this point in the domain 27 <0 <27 i
Give all answers in radians. (1 pt each) , ;
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c) Convert the point to rectangular coordinates. (2 points)

(-7, 2@)

2. Show that the polar curve r = 4cos6 — 6sin8 is a circle by changing it to rectangular. Then find the
radius of the circle.
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Rectangular equation: (3 pts) radius (1 pt)

@ (2 +(yy3)=I3 I

3. Convert the hyperbola r = into rectangular.
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Rectangular equation: (3 pts)

1A+ 3%:5

4. Convert the equation: (x?+y*)* =32xy into polar form of the three curves we learned yester
rose, limacon or lemniscate).
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5. Graph each equation (2 pts each)

a)r = 3 — 2sind

Equation
B) For your equation above, name an angle at which it passes
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7. The system of equations r=4sinf and r = 2 + 2sin@
of them. Feel free to graph if you’d like but you don’t ne
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Solutions: ( O/ O )




